Look and choose the right answer.

1.a.Lynnis (older [ oldest) than Alice.

b. Beth is the (older / oldest) of the three.
2.a.Tomis (younger / youngest) than Fred.
b. Jack is the (younger / youngest) of the three.

3. a. Mike is

(happier / happiest) than John.

b. Greg is the

(happier / happiest) of the three.

4. 3.Tinais (sadder / saddest) than Amy.

b. Sue is the (sadder / saddest) of the three.

5. a. Steveis

(angrier / angriest) than Gary.

b. Joe is the (angrier / angriest) of the three.
6. a. Blue caris (faster / fastest) than red car.
b. Yellow car is the (faster / fastest) of the three.
7. a.Earthis (smaller / smallest) than Jupiter.

b. Mercury is the

(smaller / smallest) of the three.




